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1. Which one of the following is not an objective of financial
reporting according to the conceptual framework? =

a. To provide information that will increase the value of the
company ’ ‘ .

b. To provide information in assessing future cash flows

c. To provide information that is useful for making investient and
credit decisions,

d. To provide information that identifies economic resources, the
claims to those resources, and the changes in those resources and .-
claims )

B y t ~ N B :
2. In order for accountlng information to be relevant, it must
have very little cost.
have predictive or feedback value.
not be reported to the public.
be used by d@ lot of different firms.

aobwe

3. A company can change to a new method of accounting if management can
justify that the new method results in <
a. more meaningful financial information.
b. a higher net income.
c. a lower net income for tax purposes.
d. less likelihood of clerical errors.

4. The economic entity assumption states that

a. the economic life of a business can be divided into art1f1c1a1
time periods. ce . ‘

b. economic events can be identified with a partlcular entity

c. the accounting period should not exceed one year.

d. it is assumed that the business will operate indefinitely.

5. Which accounting guideline assumes that an enterprise will remain in
business long enough to carry out its existing objectives and
commitments?

a. Cost principle

b. Economic Entity assumption
c. Periodicity assumption

d. Going concern assumption

II. TKU's Hardware Store prepared the following analysis of cost of
goods sold for the previous three years:

2001 2002 2003
Beginning inventory 1/1 $ 40,000 $ 18,000 ' § 25,000
Cost of goods purchased 40,000 55,000 70,000
Cost of goods available for sale 80,000 73,000 . 95,000
Ending inventory 12/31 18,000 - 25,000 40,000
Cost of goods sold $ 62,000 $ 48,000 $ 55,000

Net income for the years 2001, 2002, and 2003 was $70,000, $60,000,
and $55,000, respectively. Since net income was consistently
declining, Mr. Chen hired a new accountant to investigate the

cause (s) for the declines.
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III.

Iv.

The accountant determined the following: P2

1. Purchases of $35,000 were not recorded in 2001.

2. The 2001 December 31 inventory should have been 325,000.

3. The 2002 ending inventory included inventory costing $3,000 that
was purchased FOB destination and in transit at year end.

4. The 2003 ending inventory did not include goods costing $4,000
that were shipped on December 29 to Little ACC Company,
FOB shipping point. The goods were still in transit at the end
of the year.

Required: )

Determine the correct net income for 2001 and 2003. (Show all

computations.) . {(25%)

The adjusted trial balance of Acc Financial Planners appears
below and using the information from the adjusted trial balance,
you are to prepare for the month ending December 31:

1. an income statement.

2. a balance sheet.

Acc FINANCIAL PLANNERS
Adjusted Trial Balance
. December 31, 2002

Debit . Credit

(oL 1) 2 W T LI I I $ 6,300
Accounts Receivable ........... .. cennnnn 2,200
Office Supplies ........c.ciueetinnencnees Ve 1,800
Office Equipment ......... ..ot s 15,000
Accumulated Depreciation—Office Equipment ... ~ § 4,000
Accounts Payable ..........co ccreeenreioendons 4,200
Unearned REVENUE . ........cococcrroorsorscsoes o 6,000
Olsen, Capital ..........iiuierarnernnennannes 14,400
Olsen, Drawing .......... ...ttt 2,500
Service REVENUE . ......cevieenronarnaasnsrsons 4,300
Office Supplies Expense ...........cc000.- s 600
Depreciation EXpense .............ccouveeeernns 2,500
RenNt EXPENSE ... .vnr oo orrrnnocrones oo 2,000

$32,900 $32,900

(20%)
The balance sheet for TKU Corporation at the end of the current
year indicates the following:

Bonds payable, B8 e $4,000,000
6% Preferred stock, $100 par ....... ... cceevn 1,000,000
Common stock, $10 par ...........cc.nen 2,000,000

Income before income taxes was $480,000 and income taxes expense for
the current year amounted to $144,000. Cash dividends paid on
common stock were $300,000, and the common stock was selling for $22
per share at the end of the year. There were no ownership changes
during the year.

Required:

Determine each of the following:

(a) times that bond interest was earned.
(b) earnings per share for common stock. )
(c) price-earnings ratio. , (15%)
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V.

Information pertaining to long-term investments in stock in 2002 by 73

Tale Corporation follows:

Acquired 10% of the 250,000 shares of common stock of Acc
Company at a total cost of $9 per share on January 1, 2002. On
July 1, Acc Company declared and paid a cash dividend of $1.8
per share. On December 31, Acc's reported net income was
$654,000 for the year.

Obtained significant influence over TKU Company by buying 25% of
Voss's 80,000 outstanding shares of common stock at a total cost
of $22 per share on January 1, 2002. On June 15, TKU Company
declared and paid a cash dividend of $1.50 per share. On
December 31, TKU's reported net income was $300,000.

Required:

Prepare all necessary journal entries for 2002 for Tale Corporation.
(20%)




